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Group-A
(Multiple Choice Type Question)

. 1x15=15
1. Choose the correct alternative from the following :

Choose the correct option. A matrix 4 can be factorized into lower
and upper triangular matrix if all the principal minors of A are

a) . b) :
singular non-singular

9 zero Y none of these.
() If 4 and B are square matrices and 4, B/ exist, then select the
correct statement
3 (4B)1=AB o) (4B)-1= A1 B
) (4B)'= B’ 4" 4 None of these
Select the correct option. If a square matrix 4 of order 3 i

multiplied by a scalar £, the determinant of the resulting matrix is
evaluated by

(iii)

Ukl 1417,
V13 4] 9 |A I/k3

" Choose the correct option. Calculate the value of (-‘;—2) x2is, when h=1
" ox? b)

3x2
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d)
6x 2

! 4x*
™ If 4 is an invertible matrix seleet (he right one
a’A—l—_-,T;"‘(”dl'A) b 4-1 — _4
d)A~l =

c) ‘4_1 e I/A
:B’ /1

Choose the correct option. In Gauss Jordan method to solve ALy

is reframed as
b . o .
) non-singular matrix

a)

singular matrix

d .
) orthogonal matrix

J .. :
diagonal matrix

. el _1 s
Select the correct option. = {cos 5}

a) 1 b) 1
\425_x2 \/EE—_TZ_
d)
1

<)
V25 = x2 o
Choose the correct option. If 4 and I are the forward and backward

difference operators respectively, then compute 4 — Vis equal to
b)

Y A+p AV
c) d) /
A7 -

v

al value and ‘e’ be its

Select the correct option. If ‘a’ be the actu
elative error,

estimated value, then define formula for r
b)

a)
a la — e|
2 e
c) d)
(a—e) la —e|
.\
a

e



(x)

(xi)

&) Select the wrong answer:

(xiii)

(xiv)

(xv)

Select the correct option. After being rounding off to three places of
decimal the number 57.1092 becomes

" 57.109 " 57.100

c) d

)
57.110 0.109
Select the correct option. Round-off error is a form of

a) b)

. . \l é\Q\
truncation error numerical error \:\sof(&(\\\\%?&s;f‘f;
M
J N : \:;\Q‘ ;\%
S d) %‘,&(‘f\_\\%\:}p \%@@
inherent error none of these. NS
@%\ﬁ@%\

" det(4B) = det(A)det (B) " det(AB) = det(B) det (4)

9 det(AB) =
—det(A4) det (B)

Select the correct option. Diagonal dominance is must to explain

" det(AB) = det(4T) det (BT)

a)

Gauss-Seidel method ) Gauss Elimination method

c) d

LU factorization method ! All of these

Choose the correct option. Examine which of the following is false.

a)
AV=V—24 Y Av=a—v
c) d)

E.A=AE A+1=E

If the matrix lJ{ gl is singular, then select the correct value of x is

a) 1 b) 3
S 5
2 d)
— 2
S
Group-B

(Short Answer Type Questions) 3x5=15



(3)

(3)

2. 1 3 2 . .
IfA = [_1 2] and B [ _ 1]. Identify the Matrices 24.p5.
ff number correct up to 4-significant digits

3. Write the following numbers into the round o

a) 5.2056
b) 0.24062
c) 0.0055672
d) 87.268466
(3)

& 1 @  w?
IMustrate [ w? 1|, where w is cube root of unity.
' w? 1 w
3
2 Tllustrate the value of :—: if y = sec2xtan 2y
& Evaluate the forward difference table for the following data:
x 0 1 2 3
f(x) 1 2 11 34
OR
Justify thatA=fF — 1.
Group-C
(Long Answer Type Questions)
7.
3 2 1 .
fA=1 1 1 |, identify the minor and co-factor of 3, 2 and -1
5 1 —1
8.
Ify = 2x° then examine that the relative emrorat X = y = z = 1 with Ay = Ay

. z:
10 evaluating ¥ is 0.006.

z from the system of equations using Cramer’s e

State the values of x, y;
3x+y+z=4
Y=y+2z=¢
*T+2y—z-_3

3)

(3)

(3)

5x6=30

(5)

(5)

(5)



10. K +2x, x<2 )
feo= {0
le} ) %> 2

Distinguish the value of X for which the function ;
is continuous at x=2.

11. : . )
Estimate the root of tan x + x = 0 lies between 2 and 2.1, correct upto two decimal places by

bisection method.

12.
Conclude that A2(x? 4 2x + 5) = 2, taking h = 2

’ G
OR AR
'Q§b¢§$ Q& (5)

2
Evaluate the value of (A?) x%1s, when h=1. S
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